HB5.1

1)  Apriceisincreased from £400 to £430.
Calculate the percentage increase.

2)  Simplify V6 x V15

3) Expand and simplify (x — 4)(x — 6)

4)  Work out % - =

5)  Make x the subject of y = ax? + b



HB5.2
1)

2)

3)

4)

5)

Solve 5x — 6 > x + 14

Workout8 —2x3+1

Simplify (4xy3)3

Work out 83 x 27

Express 0.0304 in standard form



HB5.3

1)  Apriceis decreased from £250 to £215.
Calculate the percentage decrease.

2)  Simplify V7 x V14

3)  Expand and simplify (x + 3)?

4)  Work out 12
775

5)  Make x the subject of y = (ax)? + b



HB5.4
1)

2)

3)

4)

5)

Solve2x+7 > 4x—5

Workout5—-—4+3x2=+1

Simplify (5x2y3)2

Work out 81 x 27

Express 60700 in standard form
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HB5.5
1)

2)

3)

4)

5)

A price is increased from £120 to £138.

Calculate the percentage increase.

Simplify V2 x V40

Expand and simplify (x — 5)?

5 1
Work out - =~ -
6 3

Make x the subject of y = vax + b



HB5.6
1)

2)

3)

4)

5)

Solve 5x +8 < 2 + 3x

Workout1l+2 -3 x4

Simplify 3a3 x 2b? x 2a* + b

Work out 24 X 366

Express 0.000401 in standard form

vt (o]
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